
SERRA TICO TICO 600W 127V
Posição Peça Referência Qtde Garantia da peça / Meses

 1  90532014-01  CONJ. EMPUNHADURA  1  24

 2  90530391  TAMPA DIREITA  1  24

 3  90530389  TAMPA ESQUERDA  1  24

 5  90514323  SUPORTE  1  24

 6  90532012  MODULO ELETRONICO 127V  1  24

 7  90532017  CHAVE ELETRICA DW300  1  24

 9  90514375  EIXO  1  24

 10  90517289SV  CONJ. BARRA DEACIONAMENTO  1  24

 11  823954  ARRUELA DW300  1  12

 12  795688-00  BUCHA  1  12

 13  90526099  ENGRENAGEM  1  12

 14  90525759  CONTRAPESO  1  12

 15  90553239  ESPACADOR  1  12

 15  90532016  ESPACADOR
 Mudou para: 90553239  1  24

 16  90514354  PLACA  1  24

 17  90514424  PINO  1  24

 18  90545786  CONJ. SUPORTE E BUCHAGUIA  1  24

 19  90514324  TUBO DE AR  1  24

 20  90556728  ESTATOR 120V  1  24

 21  90556727  CONJ. ROTOR 120V  1  24

 22  90525450  CONJ. CARVAO E PORTACARVAO 120V  2  12

 24  90514201  SAPATA  1  24

 25  90513772  CALCO DA SAPATA  1  24

 26  90514216  ARRUELA DW300  1  24

 27  90514219  PARAFUSO ALLEN M8X27.5MMSAPATA DW300  1  24

 28  582827-00  PARAFUSO M5X6MM DW300  1  36

 29  330019-41  PARAFUSO M3.12 X 10MMT10 ACO  2  12

 30  90514228  INSERTO  1  24

 31  90521871  MOLA DW300  1  24

 32  90513842  SUPORTE DE FIXACAO DASAPATA  1  24

 33  90514276  BOTAO DA ALAVANCA  1  24

 34  90529814  ALAVANCA  1  24

 35  90514401  TUBO PARA SUCCAO  1  24

 36  90514628  PROTETOR DO CABOELETRICO  1  24

 37  330122-30  CABO ELETRICO  1  12

 38  329301-00  PRESILHA DO CABO ELETR.DW300  1  12

 39  370748  PARAFUSO PHILLIPS 3.7MMX12.7MM DW300  2  12

 40  90530393  SELETOR AVANCO PENDULAR  1  24



 41  326467-00  DETENTE DW505  1  24

 43  330019-17  PARAFUSO M4.55 X 45MMT20 ACO  2  36

 44  330019-13  PARAFUSO M4.55 X 19MMT20 ACO  10  24

 46  330019-00  PARAFUSO M3.63 X 9.5MMT15 ACO  2  12

 47  90614927  ETIQ. ESPECIF.STSJ0600-BR TIPO 1  1  24

 48  90514273  INDICADOR DE ANGULO  1  24

 49  90520107  ETIQUETA ESCALA  1  24

 50  90520273  ETIQUETA DE AVISO  1  24

 51  90612844  ETIQUETA LOGOMARCA  1  24

 52  90612845  ETIQUETA AVANCO PENDULAR  1  24

 54  90510498  MANCAL  1  12

 55  90512896  ROLAMENTO DE AGULHAS  1  12

 56  582717-00  ARRUELA  1  12

 57  90510502  ANEL DE RETENCAO  1  12

 58  90517281  PINO  4  12

 59  90521036  GUARDA  1  24

 60  90519151  TAMPA DO SUPORTE  1  24

 861  90530392-01  MALETA  1  24

  STSJ0600K-BR  SERRA TICO TICO 600W 127V  1  24


